0.95

=
TT T T[T T 1T
i
T

30

o

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
__mkFitOLD-checkDet__RECO

o © © o
w o N @

o
~
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Selected tracks/TrackingParticles
o
a1

o
N

Ry S :
-

T

...........................................................

...........................................................

...........................................................

—e— DQM_V0001_R000000001__Global

0.95

o

10

UL

Q@ 5 5 i i i
B.18F - P P e RREIREEIE
(-5 . . . . .

PV TR N A S ——

e
R T e

O . . . . .
® 0.0t e oo R
© : : : ! .

0.02

o+
=

O i S e
%.06_— : : :
(V)] : : : : :

0.04F 4 g oo JE

IFIIiII

=
‘ 2 o 8 e o H
‘ f f f . 41
i i i i i

=
TT T T[T T 1T




	Contents
	Page 1


